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SA: SHXED
HM: =ZE olKxs
Pl SRHAEE F|Y (CHol: X 2)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
0AUEEZ 15,856, 0002 *3. 545% 563
RIRYLEH= 563,00021%12.81% 73
0EEE= 15,856,000 %1.75% 278
OMTHEE = 15,856, 0002 %1% 159
201 L2 A 15,600 13,200 2,400
01 AFR22IHI 15,600 13,200 2,400
Ou= - A XA 1,000, 00021103 10,000
OSZH|(SYSHARFX)
8,000 x501x804! 3,200
Otetg s alos 29
100,000 %1201%23] 2,400
202 04H| 12,000 12,000 0
01 2UH0IH 12,000 12,000
SUSHARLHM
200, 000501128 12,000
203 L2 =AY 3,000 3,000
03 AIZHZ=RIDEAIH 3,000 3,000 0
Osl=28 IR=FT 3,000,000 3,000
301 YeHEAS 15,000 10,000 5,000
11 BAFAHIXI 22 15,000 10,000 5,000
Oux, Al 24X 50,0002!%3000! 15,000
406 JIEFXHR0|H 3,000 3,000
01 JIEFRF=0IH 3,000 3,000 0
S5 =2 S=HI8
1,000,00024%33] 3,000
SOICHHIS A 134,200 115,600 18,600
201 LBt A 3,200 3,200 0
01 AF222IHI 3,200 3,200 0
OSAQISHETHY AL &4 XA
800,000 %43 3,200
301 YRHEAS 27,000 8,400 18,600
11 BAFAIHIXI 22 27,000 8,400 18,600
OsQQIsHEEHY N, AL &4 X3
50,0008 %5021%103] 25,000
O4-HE|® T=nRMA X
80,0004x25Q1%13] 2,000
307 212+0|& 10,000 10,000 0
02 QIFAAAIRIE R 10,000 10,000
OFE4HE D= 29 XA
10,000,000 10,000
402 QI2EXHE0|H 94,000 94,000
01 BIZFRF2 AN 2 R (RHRITHE) 94,000 94,000 0
OFEH4-HS| ZH2AL5 XA
50,000, 0002 %274 A +80% 80,000
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SA: SHXED
HM: =ZE olKxs
£Hel: sgAEeE S4 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OFH4-H3| WSt =X
20,000,000 * 174 A*70% 14,000
=0IHEt 12,000 10,710 1,290
= 6,000
[ 3,000
= 3,000
201 LB 12,000 10,710 1,290
= 6,000
[ 3,000
= 3,000
01 AF222IHI 12,000 10,710 1,290
Os=sgoliist 29 12,000,000 12,000
= 6,000
[ 3,000
= 3,000
=2)|E M2N] 10,000 14,304 N4,304
= 5,000
= 5,000
201 LB 10,000 14,304 N4,304
= 5,000
= 5,000
01 AF222IHI 10,000 14,304 N4,304
Os)|Ied2Ns 29
5,000,000 %20t 10,000
= 5,000
= 5,000
NEB2 M2 Hus=sx 2,500 2,500
202 Ot 2,500 2,500 0
NENCED 2,500 2,500
OXE222 Meszjuas 1
250,0002410¢! 2,500
ARsYol HRASNK(Es) ) |21S) 12,500 7,994 4,506
= 6,250
[ 3,125
= 3,125
201 LB 12,500 7,994 4,506
= 6,250
[ 3,125
= 3,125
01 AF222IH 12,500 7,994 4,506
OdPFSA0l A=) |R)|ISDE 2
12,500,000 14! 12,500
= 6,250
[ 3,125
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2AM:

HM: =& ol
Pl SRHAEE F|Y (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| = 3,125
AFsLOl HHASUK(MTs) SHASUSR) 60,000 32,000 28,000
= 30,000
[ 15,000
= 15,000
301 YB3 60,000 32,000 28,000
= 30,000
[ 15,000
= 15,000
14 J|EI2 A2 60,000 32,000 28,000
OSFASLE s 242 X3
1,200,000+ 10EI+52 60,000
= 30,000
[ 15,000
= 15,000
SMASASEALRA 9,240 8,920 320
= 9,240
202 Ot 2,640 2,640 0
= 2,640
01 2UHo| 2,640 2,640 0
OsA2 BEASIAL P2FE
20,0002%335J1+43] 2,640
= 2,640
301 Y2 A S 6,600 5,280 1,320
= 6,600
14 J|EI2 A2 6,600 5,280 1,320
OsAte HEASIARA SOtgA
50,0002 *335H+43] 6,600
= 6,600
NSSs=2I T L5012 XA 10,000 10,000 0
= 4,000
= 6,000
101 Q124 10,000 10,000 0
= 4,000
= 6,000
04 2RISR 10,000 10,000 0
OXleis2)|s HL5 Q1| 10,000
0123 78,8802%101x052 7,494
= 2,998
= 4,49
0FXt==g 78,83021%101% 18 1,420
= 568
= 852
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2AM:

PSELR = ol
ol SEdEE =S4 (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
11 HAAEIX 22 1,000 1,000 0
O4-HES 1] L BA B4 243
500,00024%23] 1,000
< 300
z 700
SEXNCA E2E 84 U 3,000 3,000 0
S 900
z 2,100
206 M2 3,000 3,000 0
< 900
E‘ 2,100
01 MZtl 3,000 3,000 0
SEXNCA BSESEY 2% K
3,000, 00021% 174 4 3,000
< 900
z 2,100
HE4H DR BE X 3,000 8,000 25,000
S 900
z 2,100
301 LPHENZ 3,000 3,500 500
< 900
E‘ 2,100
11 BALAIHIXI 22 3,000 3,500 500
OFE4-HS| DHDE BAX 243
1,000,000 %33 3,000
< 900
E‘ 2,100
stm4-H3| DAl 1S X 3,000 3,000 0
S 900
z 2,100
307 2120l A 3,000 3,000 0
S 900
E‘ 2,100
02 QIZFAAAIIEE 3,000 3,000 0
Ost4-Ha| R EE X2
1,500, 000215274 12 3,000
< 900
E‘ 2,100
HeEsksY 45N 4,000 5,500 21,500
S 1,200
z 2,800
307 2I2+0IH 4,000 5,500 21,500
S 1,200
E‘ 2,800
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SN sUED
M SE QlS|Y
£Hel: sgAEeE S4 CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
02 QIFEAAIIE R 4,000 5,500 1,500
OFE3stse 2435 X
4,000,000 %14l 4,000
= 1,200
2 2,800
SENCA SSFHEX N 23,100 23,100 0
< 4,620
2 18,480
201 B2 23,100 23,100 0
= 4,620
2 18,480
01 At22r2lH] 23,100 23,100 0
OSENEX SLFEX X
60,00094%3850! 23,100
= 4,620
2 18,480
4H3| SAFBT XY (4HA2) 2,700 2,700 0
< 540
2 2,160
201 YLBr2HY| 2,700 2,700 0
= 540
2 2,160
01 At22r2lH] 2,700 2,700 0
O4-Hs| =& =2X XA 30,00024*900! 2,700
= 540
2 2,160
59 AASRYZ DEHSEE 2K XA 5,000 5,000 0
< 1,500
2 3,500
206 M2t 5,000 5,000 0
< 1,500
2 3,500
01 M2l 5,000 5,000 0
O AASHYZ BDESETE 2K
5,000,00081% 1A 5,000
= 1,500
2 3,500
A sl 4324 |4 40,000 0 40,000
< 15,000
2 25,000
402 BIRERHE20| A 40,000 0 40,000
< 15,000
2 25,000




SN SEUED
Y =E ol2igy
Pl SRHAEE F|Y (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 QIZEXH= AL 2 (01 - THE) 40,000 0 40,000
ORNIL s2iol M2 s4
50,000, 0002 *1JH2A+80% 40,000
& 15,000
o 25,000
A0EESAS Edst AE 2,000 6,600 24,600
= 600
i 1,400
307 212t01& 2,000 6,600 24,600
S 600
[ 1,400
02 2B AIEE X 2,000 6,600 24,600
O SHSOPIE M=
2,000,000 102 2,000
S 600
i 1,400
Fdsgel SIUERD gdat A 3,000 10,000 A7,000
= 900
o 2,100
307 212t01 ™ 3,000 0 3,000
S 900
i 2,100
02 I B AP E X 3,000 0 3,000
O3dsol 25 UEHAD a43t
3,000,00020%1JH A 3,000
S 900
[ 2,100
ANEY FEEY wE AME 29 44,500 50,000 5,500
201 28t=3d| 30,000 18,000 12,000
01 At22tel] 30,000 18,000 12,000
OANE30 A0EY A 0PtHI0l 29
1,500,000 *203] 30,000
202 O4H| 5,000 5,000
04 = HI2t0H| 5,000 5,000
OADIER HEBY DS o 2ol
5,000,000 *13] 5,000
206 M= Hl 5,000 5,000
01 H=H] 5,000 5,000 0
ASUS I 78 S
5,000, 0008 %14l 5,000
301 Et2dS 4,500 22,000 A17,500
11 EAHIXES 4,500 2,000 2,500
OADIEEE & SHAS
1,500, 00021+33] 4,500
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SA: SHXED
HM: =ZE olKxs
Chel: SN2 |4 (Chol: ®i2)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
EEIEEINENEIEEERE 16,500 16,500
201 L2 11,000 11,000
01 AF222IHI 11,000 11,000 0
O88E I ESNS A2 L I
|2 1,000,000 110 11,000
301 YL A S 5,500 5,500 0
I EREE 5,500 5,500
OYeisior 50| L SRS 24X
50,0002%1109! 5,500
HEsi=0l 22101 0Bl 243 X 6,000 6,000 0
201 L2 4,000 6,000 22,000
01 AF222IHI 4,000 6,000 22,000
OFBsl=ol 220l 0Bl 2435t X
4,000,000 %14l 4,000
301 YB3 2,000 0 2,000
11 BAFAHIXIRZ2 2,000 0 2,000
OYBIBIor 50| LU SHAF &4 XS
20,0002 %20 H*53] 2,000
OlHAYE 2 2 92,041 73,293 18,748
Ol2HA 2t FAL22 92,041 73,293 18,748
101 QI24H] 31,841 31,093 748
M JIZH2RISES 31,841 31,093 748
OD[HAH 2 HAL22] 31,841
0122 78,8802 101x249 19,642
0=Xt=< 78,8802 x101x522! 4,102
0J|Et==E 1,000,000 10! 1,000
081213 78,88024%30 2,367
0HZEE 24,742 ,88021%3.545% 878
0 QUEE 24,742 88021%12.81% 3,170
01E=E 24,742,880 1.75% 434
0CHHEE 24,742,880 %1% 248
201 L2 A 55,200 37,200 18,000
01 AFRZH2IHI 9,000 9,000 0
Oz |xze 8%
150,000 * 12 1,800
OtEAl U MERE S HIERY
400,000 %122 4,800
O&4D| dxtz 50,000 %4 (H* 122 2,400
02 222 46,200 28,200 18,000
OasleE 23 50,0002 % 12 3,000
erSplier= 3,500,000 %12 42,000
Oostie= 100,000 128 1,200
401 Al4H| 2 S HY] 5,000 5,000 0
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SA: SHXED
HM: =ZE olKxs
el Olejdiga =g CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
01 Al&H] 5,000 5,000 0
OA&E |X 22 2,500,0002 *2A! 5,000
HNSEAINHFE 2,637,653 3,076,679 A439,026
= 512,850
7l 5,769
[ 65,840
= 2,053,194
NEEVSENSIESTEL 798,653 1,516,679 NAT718,026
= 20,850
7l 5,769
[ 1,200
= 770,834
NENSASMAXIH 21,120 16,320 4,800
201 L2 A 7,920 7,920 0
01 AFR22IHI 7,920 7,920 0
OSLHHSUN 22 S E2X2 ME
2,000 *5005+33] 3,000
OAZRZTHHD |2 Mens XY
300,0002/ %103 3,000
OSZH|(XHSSFAREX)
8,0004*301x804! 1,920
202 O4H 12,000 7,200 4,800
01 2UHo| 12,000 7,200 4,800
OXNSEFAR 43
200,0002%501x 122 12,000
301 YB3 1,200 1,200 0
11 BAFAHIXIRZ2 1,200 1,200
OAZEZ XX AS
30,00044001%13] 1,200
ASAERE 29 185, 101 173,332 11,769
101 Q124 82,901 80,732 2,169
04 2RISR 82,901 80,732 2,169
AZAEZ 22 54,762
0123 78,880R%20 12492 39,283
0=Xt=< 78,880R%201x502! 8,204
0 Xt 78,8802+201x 112 1,736
0=2%= 49,221,120 %4 . 5% 2,215
0HLEE 49,221, 12024%3.545% 1,745
IRSEE 1,745,0002%12.81% 224
OnE=3=k] 49,221, 1202 *1.75% 862
OAHTHE & 49,221, 1202 % 1% 493
OAAEGIRA U sE2S2e| 14,038
02z 78,880%201x652! 10,255
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2N sAREY
HHM: HSEYIHMZE
&2l: NHEEHS Jl=ieg (CHRl: &)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0F=Xt=< 78,8802 +201x 132 2,051
(bR 78,88021%201+22 316
0=pIi=2 6,310,40021%201%4 . 5% 568
0HLEE 6,310,400 x201%3 . 545% 448
0FIILLYEE 448,0002%201x12.81% 115
01E=2S 6,310,400 %201%1.75% 221
0MTHES 6,310,400 %1% 64
OZSRE 22| Y £2, ASHAIZ SI2X
= olA] 14,101
== 78,880 %201x652! 10,255
0F=Xt=< 78,8802 +201x 132 2,051
(bR 78,88021%201x22 316
0=pIi=2 6,310,40021%201+4 . 5% 568
0HLEE 6,310,400 x201%3 . 545% 448
0Z)| QLS 448,00024%201%12.81% 15
01E=E 6,310,400 %201%1.75% 221
0MTHES 6,310,400 %201x 1% 127
201 L2 A 22,200 18,600 3,600
01 AFR22IHI 3,600 3,600 0
OASAIEEE 2| 300,000 %12 3,600
02 222 18,600 15,000 3,600
OAZAIBE HI Q2
500,000 122 %24 A 12,000
O¢2H| 3,600
0AISAIEE AlM 1,000,000 *33] 3,000
0sJ12 200,0002*3CH 600
OAIERX 22| 300,00024*10S 3,000
206 M=l 49,000 59,000 10,000
01 XHEH] 49,000 59,000 10,000
OZ=EE M 22 2.000,0002%10= 20,000
OBAEH T2 312 I 2
5,000,000 *4E 20,000
OBAIZ ALK 2L
3,000,0002*3Z 9,000
401 Al&HIL20HY] 5,000 15,000 10,000
01 Al&H] 5,000 15,000 10,000
ASAEZE HILGIRA AL
1,000,000 55 5,000
405 THAHE SH 26,000 0 26,000
01 AL SEF SH 26,000 26,000
OAZAIEEHE 29 AN 2
20,000,000 *1CH 20,000
OAZAIEEE 29 Hug)| 1
6,000,000 *1CH 6,000
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N =gH8EDL
M AZEFMNLFE
el XSSH3E Jl=He CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
EEZEL 29 179,563 152,207 27,356
101 Q1244 160,472 135,069 25,403
02 JIEt&E 94,537 68,816 25,721
OStHEANA 2H(ARHIET LIRSS
) 94,537
0Jl=2=(YoIMe=)
2,955,870&201x 128 70,941
o= 244, 13021%201% 128 5,860
0SE+ARaG(AIRIHE RIS
141,880 %201x 123 3,406
=g 1,680
o ikt 40,0002%101x 122 480
0 JIEIE 30,0002 *101x 128 360
o EMAXH 70,0002 +101x 122 840
0ZH=A 140,00024 %201 122 3,360
0XZEZHI 157,500 %201 %122 3,780
OAIZIRIZR4Y
10, 16224% 15 A1 2201+ 128 3,659
0D &M| 10, 16821%91 A| 2+%201 1,851
03 R (RIAHL)2E2XE S 65,935 62,788 3,147
OELHTA 22 65,935
01=2 2,270,25021%201% 12 54,486
(IESE RS PR= R =y 170, 0002 *201% 122 4,080
02 E =Ml 2,270, 2502 +608*201 %23 5,449
oorEsg 160, 00024 %1Q1% 122 1,920
204 A LEAY| 1,050 1,050
02 SEZYR3HI 1,050 1,050
OU2IESH|(AIRIHEH LIIHSFRE)
43,7502 %201 %128 1,050
304 H=FE=S 18,041 16,088 1,953
02 FLIALEEHFT 3,728 3,094 634
OAIZESE T 2IIH H2EE JI2FRE3
93, 187,000& *3.545% 3,304
OAZHIEHIZIIH BIIQYEE D22
= 3,304,000&*12.81% 424
04 SR (RIIHY) 22X BESRLS S 14,313 12,994 1,319
OARZHIEIHLD M DEEE J|22L3
93,187,000 *1.5% 1,3%8
O32% =0Az I3
65,935,000 *4.5% 2,968
O3R% AHALE J|ARE=2
65,935,000 *3.545% 2,338
O32& AIQYEE J|lH2H=
2,338,000&*12.81% 300
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2N SRS
MM R2SAWLET
=l NSSEs JI=hE CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O=oz u=gs J2sas
65,935,000 *1.75% 1,154
OZ2x AHEE Jl2ee2
65,935,000 * 1% 660
O32% EANNY2 65,935,0002%1/12 5,495
B HolE MEE A 29 A 18,000 18,000 0
=2 5,400
o 12,600
201 ZEr=g| 6,000 4,000 2,000
=2 1,800
o 4,200
01 Al 22 6,000 4,000 2,000
ONIZER2] &Y AXE L SHADE 2
s 500,00024* 12CH 6,000
= 1,800
- 4,200
202 O3] 6,000 1,800 4,200
=2 1,800
o 4,200
01 =L0iY] 6,000 1,800 4,200
Oz MBS A=
200,0002#301% 108! 6,000
= 1,800
- 4,200
206 M=Hl 6,000 6,200 200
= 1,800
- 4,200
01 XM=l 6,000 6,200 200
ONEEY Y FCHA 22| 2% W2 7
500,0002 125 6,000
=2 1,800
o 4,200
DSASHID 2K (ZE2LA 29 K) 40,000 42,000 2,000
= 10,000
- 30,000
201 LB %] 15,000 24,500 9,500
= 3,750
- 11,250
01 Al 22 15,000 24,500 9,500
OSHZdE "= 100,000 %501 500
=2 125
o 375
OEAAE HHF 2/
1,500,0002 13| 1,500
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SN SYTSD
B I2EAHET
=l NSSEs JI=hE CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 375
2 1,125
OzEEs 29 2579
1,000,0002 %103 10,000
= 2,500
2 7,500
OLFII| ARD $4HI8
500, 00021463 3,000
= 750
[ 2,250
202 01l 5,000 3,500 1,500
= 1,250
2 3,750
ETCE 5,000 3,500 1,500
OZgEsa 29 22T
1,000, 0002+52! 5,000
= 1,250
2 3,750
ERET] 20,000 14,000 6.000
= 5,000
i 15,000
01 WEH] 20,000 14,000 6.000
OZer2s 2 2FME FL(A S)
1,000,000& 205 20,000
= 5,000
2 15,000
=NSHolE 2T 29(H, 22) 1,500 1,500 0
= 450
[ 1,050
206 XH=Hl 1,500 1,500 0
= 450
i 1,050
01 WEH] 1,500 1,500 0
OBEE 2% MSHI(H3, 22P)
300,000 *5I 2= 1,500
= 450
= 1,050
MRS ¥EZ0 NA(EYE) 5,769 5,500 269
Jl 5,769
206 24| 5,769 5,500 269
Jl 5,769
01 MZH 5,769 5,500 269
MEH 01YEY S M2
5,769,000&*15 5,769
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SN sUED
M HSEPIPLEX
el XSSH3E Jl=He (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
| Il 5,769
=28 CERAE0Y AHAMY 5,600 40,320 N34,720
307 RI2t0IE 5,600 40,320 N34,720
02 QIIF AN B R 5,600 40,320 N34,720
OSYURCEE XE NASFHS wWsH N
700,000 %1621 %50% 5,600
IE2L B5C 55 A 10,000 30,000 20,000
2 5,000
2 5,000
201 2LBr2%H| 5,000 0 5,000
2 2,500
z 2,500
01 At=2t2lt| 5,000 0 5,000
OIE2L HEEAA 29
1,000,00021+55 5,000
2 2,500
2 2,500
206 K2t 5,000 0 5,000
2 2,500
2 2,500
01 I 5,000 0 5,000
OIIE2L 224 A S AEE 7
& 1,000,000 +5% 5,000
2 2,500
z 2,500
SAHSOHHEAA 152 250,000 750,000 500,000
405 KHAHEISHI 250,000 750,000 500,000
01 AHAtL S E 3| S| 250,000 750,000 500,000
OSAHSOHHEAA HR=o2A)|H 2Y
250,000, 00024+ 1CH 250,000
S22 RE0IMS MAHE X 28,000 0 28,000
201 LBr2%H| 2,000 2,000
01 At22r2lH] 2,000 2,000
Os2E8 S20IME MR AZE 2
500,000 *45%14] 2,000
206 KHEH| 18,000 0 18,000
01 M2l 18,000 0 18,000
Os2A8 RBOIMS AR XY
1,500,000 %1% 15+120H 2 18,000
405 XHAHE SHI 8,000 8,000
01 AL 23| S| 8,000 8,000
Os2g 20142 BAYED 7Y
4,000,00024%2CH 8,000
SAHSOHHEAA 2K K| 50,000 50,000 0
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2A: SHIED
M HSBAWLEE
el XSSH3E Jl=He (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
201 2B | 20,000 25,000 5,000
01 AlRZielt] 20,000 25,000 5,000
OSASoRENA 29 SZ70
2,000,000 x103] 20,000
206 M=H 30,000 25,000 5,000
01 X=H 30,000 25,000 5,000
OSAIZoEEHA 29 Al S ABTE
-8 ,000,0002%103] 30,000
HolE oA 221 4,000 7,500 23,500
[ 1,200
2 2,800
206 M=H 4,000 0 4,000
[ 1,200
2 2,800
01 X=H 4,000 0 4,000
OHaiZE FEa HE Al S A2 2
e 400,0002* 105 4,000
= 1,200
= 2,800
AIZRIS MAE K| 1,839,000 1,560,000 279,000
=2 492,000
= 64,640
= 1,282,360
H AZEE XARS AHAY 20,000 20,000 0
R =] 20,000 20,000
N ENEEEN D) 20,000 20,000 0
O AES Mol SXH L X0 XY S
5,000,0002*47H A 20,000
CENEEEE IR 50,000 45,000 5,000
[ 7.500
2 42,500
206 H2H 50,000 0 50,000
= 7,500
= 42,500
01 X=Hl 50,000 0 50,000
Ob 8= 2Hibl X
50,000,00024% 1742 50,000
= 7,500
2 42,500
Er2t0lA THBHERX] X2 10,000 10,000 0
R = 10,000 10,000
01 QIZFAHZ AL B (IR ) 10,000 10,000
OEel0lA THHHEHK KR!
20,000, 00021+50% 10,000
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SN SYXED
M NN FE
el AEHE Mo T2 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
AMHISE e &EE sXHH Al 24,000 16,000 8,000
= 9,000
i 15,000
307 212t01 & 24,000 16,000 8,000
& 9,000
i 15,000
02 CIZHEAAIRIE X 24,000 16,000 8,000
OAlblEE e &&td s XI&
24,000,000 14] 24,000
& 9,000
i 15,000
I=R4tE oHEXel I 105,000 200,000 A95,000
= 42,000
i 63,000
201 LE23H| 15,000 0 15,000
= 6,000
i 9,000
01 At22teld| 15,000 0 15,000
OZ=s242 orMXe| &l e Xt
1,250,000@4*1CH* 122 15,000
= 6,000
i 9,000
307 212t01& 90,000 0 90,000
= 36,000
i 54,000
02 QIRHBAIAHE R 90,000 0 90,000
OgsRits tE el XA
90,000,000&*1JH 2 90,000
= 36,000
i 54,000
MIOLIZ XY TUSE ok AH 22 900,000 900,000 0
= 450,000
i 450,000
402 QIZERHE0| A 900,000 900,000 0
= 450,000
i 450,000
02 CIZEXI=2 AL B (0| M THS) 900,000 900,000 0
OIIZ JIEAIE 2 &EHl 2 X
900,000, 000& 900,000
= 450,000
i 450,000
MAE MEol HEEE M K& 10,000 10,000 0
307 212t01™ 10,000 10,000 0
02 CIZHEAAIRIE X 10,000 10,000
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SA: sHED
HI: NSEHIPLEE
CH2lr AlEAE Mo T3 (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Ozletd M2t Y2ES T X
20,000, 0002 * 174 A*50% 10,000
IS MY UA(SSYM HE2) 720,000 0 720,000
[ 48,140
= 671,860
307 2120l 720,000 0 720,000
[ 48,140
= 671,860
02 DIZFEAAIIE R 720,000 0 720,000
O2= =&Y U 2SR 3=
120,0002%3,000ha*23] 720,000
[ 48,140
= 671,860
WHEXR SHIA 2,417,340 1,467,808 949,532
= 87,450
p) 20,000
[ 354,710
= 1,955, 180
DEE PSSR M 2,154,340 1,304,568 849,772
p) 20,000
[ 322,460
= 1,811,880
YrERSY 37,040 26,268 10,772
201 LB 6,240 5,868 372
01 AlR2:2|H| 6,240 5,868 372
ONLEZ ME2CH 2L
60,0002 x3E#25 360
ODLEZR AHE 29 2 2|
880,00024*3H A 2,640
O=Z2MHEE JILER 842 H
55,0002 % 12JH A#13] 660
Otz Stald 2l 22 49 JIZ
55,0002 1204 A %13 660
OSEHI(UHEZ ARE7)
8,0004*301x804! 1,920
202 O4H 7,200 7,200 0
NENE 7,200 7,200
ODSEZ A48
200,0002%301+ 122 7,200
206 M=l 20,000 10,000 10,000
01 H2HI 20,000 10,000 10,000
Ol SLHE LA S
20,00024*1,000% 20,000
301 LBtEEa 3,600 3,200 400
11 SAMAIH| X212 3,600 3,200 400
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SH: SAXED
H: PSR SN
ol NSE SA Ao CEREERD
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OXSe s us 4
35,0002 *4001%23] 2,800
OR4+SRNS ¢ WIS &4
20,00024%40¢9! 800
D= AS AR WHHER D8RS 420,000 0 420,000
IEEEEL] 8,000 0 8,000
01 AFR2r2lH] 1,200 1,200
OBSAZAIBE 2|
100,0002*122 1,200
P 2229 6,800 0 6,800
ORSAZAIEE &II23
4000002+ 124 4,800
OBSAZAIBE 124
500, 0002 <42 2,000
206 24 12,000 12,000
01 M2 12,000 0 12,000
OBSASABE 29 HIg
1,000,0002 122 12,000
401 AIEHIL LY 400,000 0 400,000
01 Al&H| 400,000 400,000
ODSAISAIEE AILHI(CXI D)
2,000m %200, 0002 400,000
DED AL BES L 120,000 120,000
DIRIHE0IA 120,000 120,000 0
I N EEES S ED) 120,000 120,000 0
ODEZ AFAD HES Y
240,000,0002!+50% 120,000
DTS 34,500 48,000 13,500
402 BI2tAH=0| & 34,500 48,000 A13,500
01 QIZFXHE AL 2 (RHHITH ) 34,500 48,000 13,500
OL-g ch AES n48 X4
30,000, 0002 %50f% 15,000
OZ22HI2] 8| THHH 2 HA Al
15,000, 00024 *50% 7,500
Ol HERQ 28 TEI| 8| A
24,000, 00021 %50f% 12,000
N EEENE] 1,200,000 520,000 680,000
S 300,000
z 900,000
307 2I2+0IH 1,200,000 0 1,200,000
S 300,000
z 900, 000
EEE] 1,200,000 0 1,200,000
OsXZ2 MH2EE 2
1,200,000, 0002 1,200,000
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2AM:
PSE
o /e

chel:

dEE
Ofl &b oK

Mo

300,000
900,000

MmN

292,800
13,460
279,340

522,800

A230,000

M H

292,800
13,460
279,340

522,800

A230,000

02 QIIXEAIEE (01X THR)

12,900,000 %50%

8,700,000&*50%

22,200, 0002 %570 2=%50%

OlZU NEsE sS4
200,000, 0002 *2IH 2=*50%

O EIIMEHM X

21,000,000 x50%

32,000, 000& *50%

M H

MmN

Mo

M H

MmN

292,800
6,450
1,290
5,160

4,350
870
3,480
255,500

55,500
6,000
49,500

200,000

10,500
2,100
8,400

16,000
3,200
12,800

522,800

A230,000

S

MmN

50,000
20,000

9,000
21,000

50,000

402 212HXHE01 ™

S

Mo

50,000
20,000

9,000
21,000

50,000

Z(O01HTHE)
Ot NSE AMERUst
100,000, 000 *50%

S

Mo

50,000

50,000
20,000

9,000
21,000

50,000

S




SA: SN
M PLSE SNV
ol DSE WSH ik MY CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
DED PSR YA A 263,000 163,240 99,760
= 87,450
= 32,250
z 143,300
s 2EE 23 (tH) 1,500 1,500 0
= 450
z 1,050
206 M 24| 1,500 1,500 0
= 450
z 1,050
01 M2 1,500 1,500 0
OHHE 2T 2(HH)
300, 000215504 4 1,500
= 450
z 1,050
SN2 HolE YA 59,000 50,240 8,760
= 29,500
z 29,500
206 M 24| 59,000 50,240 8,760
= 29,500
z 29,500
01 M2l 59,000 50,240 8,760
OsXZ HilZ LMl 59,000,000 59,000
= 29,500
z 29,500
D HHE OIE L SR A 7,500 7,500 0
= 2,250
z 5,250
202 04| 3,600 3,600 0
< 1,080
z 2,520
ENE 3,600 3,600 0
OB+HoHS iz L LH=E
20,0002*321x602 3,600
< 1,080
z 2,520
206 THEH 3,900 3,900 0
= 1,170
z 2,730
01 M2l 3,900 3,900 0
OB+HHE ollZ L 2
1,950,000 %25 3,900
< 1,170
z 2,730

|
&
|




SN SATED
Hu: PSR SHX
ol DSE WSH ik MY CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
el O 2)I0 a2 Al 40,000 40,000
= 15,000
= 25,000
402 DI2FHE0[ A 40,000 40,000
< 15,000
= 25,000
02 CIFRFZ A B X (01 e ) 40,000 40,000
OHIZIE CH-2 SIITHHH el 2L Al
50,000, 0002 %80% 40,000
< 15,000
= 25,000
0I&DI& THS BH WIGHOIE D=2t Al (SHI) 40,000 40,000
= 15,000
= 25,000
402 DI2FRH=0[ A 40,000 40,000
= 15,000
= 25,000
02 BIRIKHEAR B X (01 M) 40,000 40,000
OOIAD|AH THS DR TIGHONIE JI&=Hat Al
E 50,000, 0002 * 170 A*80% 40,000
< 15,000
= 25,000
IS5 (S USE MUY 23 AlY 100,000 100,000
= 50,000
= 50,000
402 DI2FRH=0[ A 100,000 100,000
= 50,000
= 50,000
02 BIRIKHEAR B (01 M) 100,000 100,000
OJISBIs (1S CHEX #UIHY 23 Al
s 100,000, 0002 17§ A 100,000
= 50,000
= 50,000
S0l AIREE JHA D1z AlY 15,000 15,000
= 7,500
= 7,500
402 DI2HRHZ0[ A 15,000 15,000
= 7,500
= 7,500
02 DIZIKHEAR B (01 F TN ) 15,000 15,000
OF0l AFSEZ HE D& Al
15,000,0002% 1744 15,000
= 7,500
= 7,500
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A SARSD
HE: ALAIIC] HMRAYSL
Pl DSESASHA AIRAIR (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
NEWEEIEZE R 3,002, 157 3,205,039 A202,882
7| 9,132
[ 257,978
= 2,645,047
DESASMA AILXIA 3,002, 157 3,205,039 A202,882
J| 9,132
[ 257,978
= 2,645,047
2001 11,120 9,120 2,000
201 Lty 1,920 1,920 0
01 Al22+2|H| 1,920 1,920 0
OEEGICICDAEISISESS)
8,000 *321+80 1,920
202 01t 7,200 7,200 0
01 =LH0IbI 7,200 7,200 0
OJIXI A P48
200,00024%321x 12 7,200
301 LBtEAS 2,000 0 2,000
11 #AFAHIXIR 2 2,000 2,000
OAZR0 RS EIH| X
50,00021%400! 2,000
20=2 XA 1,554,000 497,200 1,056,800
402 QIZEXHE0IH 1,554,000 497,200 1,056,800
01 QI AHE AL 2 (RHHITH ) 1,554,000 497,200 1,056,800
O0BIRA AIEINE X
520,00024* 15070 A 78,000
OAEZD| =&Y XI& 300,000,000 300,000
OZI| AZEDH 2 HHSLH AHHIAIH
220,000, 0002 %50% 110,000
OAIER0IsIt HILX &83 X
10,000, 0002 %5074 A *50% 250,000
OLI| KR A& X
26,000, 0002 %3274 2+50% 416,000
OZI| 3IOIHIE Al& X2
40,000, 0002 %2074 A *50% 400,000
YE MDD 22 0IE X 30,000 60,000 230,000
201 Lty 30,000 30,000 0
01 AF22t2it| 30,000 30,000 0
OYE =D 22 0IE X
30,000,000 30,000
AT 244 2N 5,000 0 5,000
307 2I2tolA 5,000 5,000
04 DIZFHAFAIRIE X 5,000 0 5,000
O2U=0l 22X A2 SA
5,000,000&* 12 5,000
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2N SYRED
HE: ARl ZMAAG
TP DEISASMA ARXE (chol m=)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
MASEAL X 1,177,917 2,224,419 21,046,502
= 220,490
i 957,427
307 212t01 & 138,214 136,176 2,038
& 41,465
i 96,749
02 CIZHEAAIRIE X 138,214 136, 176 2,038
OMAF (LI} Marorby XI&A
138,214,000 138,214
& 41,465
i 96,749
402 CIZHRHE0|N 1,039,703 2,088,243 21,048,540
= 179,025
i 860,678
02 CIZEXI= AL B (0| M THS) 1,039,703 2,088,243 1,048,540
OANER0 AXEHIZH XA
6,550,000 * 1571 2+50% 49,125
& 9,825
i 39,300
Om)| LEIRF(AR) XA
700&x218,5005F*45% 68,828
= 13,765
i 55,063
OMIIHED(2EY, 2+8) XA
20,000, 0002 *4 4 Z=*50% 40,000
& 8,000
i 32,000
OJ0ASoteA MAAIE Sligt XA
30,000,000 *307H 2 +50% 450,000
= 90,000
i 360,000
OAlE5tRA AZASIEE XIJ
3,400, 000& 5094 2= *50% 85,000
& 17,000
i 68,000
OsdEs pH Y SEHE S3HE e XIJ
100,0002*1,0009H 2 %50% 50,000
= 10,000
i 40,000
OAEJ0 =&Y K&
150,000& *3, 8682 *50% 290, 100
& 29,010
i 261,090
O, Ol Mat M2old s X
1,900, 000%50 A *70% 6,650
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SFIE
Al ARRIo] Hme2tg)
NEESASME AIEXIRA (cHol: M)
SA B E(BH) - HRAY - BES Gl HIDS2
= 1.425
= 5,225
NEENEVERNE 99,000 137,500 38,500
p 45,000
[ 16,200
= 37,800
402 QK201 99,000 137,500 38,500
p 45,000
= 16,200
= 37,800
02 DIZHHEAE B (01 @) 99,000 137,500 38,500
NIV
30,000, 0002 <67 2 #55% 99,000
p 45,000
= 16,200
= 37,800
MEXEZAE A 75,120 164,300 89, 180
p 34,132
= 12,088
= 28,700
402 DIIKT=01 75,120 164,300 89, 180
p 34,132
= 12,088
= 28,700
RN EEESGESIED 75,120 164,300 89, 180
OUHUHXIZEZAIE XA 75,120,0002 75,120
p 34,132
[ 12,288
= 28,700
DEHDRIMHIAIE X2 50,000 112,500 62,500
p 20,000
[ 9,000
= 21,000
402 B0 50,000 112,500 62,500
p 20,000
[ 9,000
= 21,000
N EEES G ED 50,000 112,500 62,500
ODZHIIIZTHRAIE X2
25,000, 00021 %455 I H50% 50,000
p 20,000
[ 9,000
= 21,000
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SA: SHXED
HHM: D= RAX
gel: gdsllsEs (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
EEEEENE 1,171,439 2,284,781 A1,113,342
= 25,180
[ 215,250
= 931,009
SIS 1,171,439 2,284,781 A1,113,342
= 25,180
[ 215,250
= 931,009
Olised 12,120 12,120 0
201 L2 4,920 4,920
01 AF222IHI 4,920 4,920
O8I |=xe 29 3,000,000 3,000
OSZH|(DHsHAREX)
8,00021%301x804! 1,920
202 OiH| 7,200 7,200
01 2LH0IH 7,200 7,200 0
Ol AR =
200,0002%301 122 7,200
ANASAELY 29 114,619 51,836 62,783
101 Q124 32,139 31,356 783
M IIHR22IEES 32,139 31,356 783
ORNASASEEE 29 20,188
0ol== 78,8802 %101%190 14,988
0F=xt==< 78,880 101x402! 3,156
0=01013 18, 144, 000244 5% 817
0HBEE= 18, 144,00024+3.545% 644
MIUBE=Z 644 ,0002%12.81% 83
0EEE= 18,144,000 %1.75% 318
OMTHEE = 18, 144,000 %1% 182
OLEQIL At 11,951
022 78,8802 *301x502 11,832
0tHHEE = 11,832,0002* 1% 119
201 L2 A 7,480 5,480 2,000
01 AF2ZH2IHI 2,000 2,000 0
ONI20F ASAIBZIE 29|
2,000,000 2,000
02 222 5,480 3,480 2,000
OX0I20F ASAIBEE L]
5,000,000 5,000
OADIER 2% S| 40,0002+ 122 480
206 HEH] 25,000 15,000 10,000
01 X2l 25,000 15,000 10,000
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FA: sHAUEDL
B 02lse SLTE
S R LW (Cto: M)
SA - B - BRI(E) - MRAY - BaS e Gl inE=gt
OM=0I(2, 59, SHA S)
25,000,000& 25,000
401 AIZHIZL S0 50,000 0 50,000
01 Al&H] 50,000 50,000
OJUAS ASAEEE A4 M
50,000,000 50,000
S =AY 638,600 1,066,725 A428,125
401 AlEHIL R 0HY] 30,000 754,725 AT24,725
01 Al&H] 30,000 750,000 A720,000
OclM=Xl E+ S5 Adat A
30,000,000& 30,000
402 2I2HXHE201 608,600 307,000 301,600
01 QI X2 AL B (KFHITH) 608,600 307,000 301,600
OnNSa LS N3A
100,000&*5,00021*30% 150,000
OZFI Al&ot2A XA
102,000,000 *30% 30,600
OYS0ts SHAIE
2,000, 000& *40ha*50% 40,000
OgxHF D=1l ol Al
20,000, 0003 » 174 2=+80% 16,000
O=g8 F=AIAE X AlY
22,000,000 294 A*50% 22,000
OJISisl IS AAS == 84 X2
300,000, 000%2IH 2=*50% 300,000
OZJl =UHES =KX Jl= AE
100,000, 0002 * 17 A*50% 50,000
HoDls ESAY 48,000 616,000 A568,000
= 18,000
i 30,000
402 212tXH=01 S 48,000 616,000 A568,000
< 18,000
[ 30,000
02 QI XH2 AL E (01 A THE) 48,000 616,000 568,000
OZJ| 2d& 2 +& = 2A2PD|I= A
40,000,000 * 1H 2%80% 32,000
= 12,000
o 20,000
Ox=Z Ml tiXig+=2 22Dls HE AY
20,000, 0002 *17H A*80% 16,000
< 6,000
i 10,000
LI =R HEsA Jls M 50,000 0 50,000
= 25,000
i 25,000
402 2I2HXHE01 ™ 50,000 0 50,000




SN SEUED
B 02lse SLTE
ool EsJIeEs8 (CHR: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 25,000
[ 25,000
02 QIZEXH=AL 22 (01 THE) 50,000 0 50,000
0mI| 2@ UFEA JlE AlY
50,000,000 * 174 50,000
= 25,000
o 25,000
gois 222 29(0ts, &0 600 600 0
= 180
i 420
206 XH=Hl 600 600 0
= 180
i 420
01 MH=Hl 600 600 0
Odgdls 22X 29(2)
300,000 2 2= 600
= 180
i 420
HUHE Solils Gl = UM Al 7,500 7,500 0
= 2,250
i 5,250
202 04| 3,600 3,600 0
& 1,080
i 2,520
01 SUHOHI 3,600 3,600 0
OROIFS HaHE 0IZ w25
20,000 180! 3,600
& 1,080
i 2,520
206 XH=Hl 3,900 3,900 0
= 1,170
o 2,730
01 MZH 3,900 3,900 0
OFM&E Galis & & X
3,900,000 3,900
< 1,170
i 2,730
L 4S8 I8 ZE(HEAY) 300,000 0 300,000
= 195,000
i 105,000
402 212tXH=01 S 300,000 0 300,000
= 195,000
i 105,000
02 BIZAHE ARG 2 X (01X THS) 300,000 0 300,000
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2A sgdED
23 Old=sgy sS4
el dAslls=2g (cto: ®
S . "M . Ce(S SAlY .« HA2 AFOH HELE Hm=2
T‘I'o—|°|_‘l"|(9—1)”)°k”—l— S - BES Ol ArH Of| AkoH | s
— T

OgJ| &4==]12 Jlgt =

0x

50,000, 0003 *6IH A

MmN

300,000
195,000
105,000
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